TWO TRICKY POINTS USING THE DISCRIMINANT.
1.  Find the range of values of p so that  x2 + (p – 1)x + p + 2 = 0  has no real 

     solutions.
 The condition is             ∆ < 0  
                     ie     b2 – 4ac < 0   

      Δ = (p – 1)2 – 4(p + 2) < 0
Δ
   Δ =  p2 – 2p + 1 – 4p – 8 < 0

               Δ =    p2 – 6p – 7 < 0

          Δ =   (p – 7)(p + 1)   < 0 

The KEY is to think of this as a graph with              –1                    7             p                


 Δ as the y axis and p as the x axis.

So we are finding p values which cause Δ to be negative (ie below the p axis).                                                                 
This means that    –1 < p < 7      (as shown on the diagram)
________________________________________________________________
2.  Find the range of values of p so that  x2 + (p – 1)x + p + 2 = 0  has TWO real 

     solutions.
 The condition is             ∆ > 0  
                     ie     b2 – 4ac > 0   

      Δ = (p – 1)2 – 4(p + 2) > 0
Δ
   Δ =  p2 – 2p + 1 – 4p – 8 > 0

               Δ =    p2 – 6p – 7 > 0

          Δ =   (p – 7)(p + 1)   > 0 

Again the KEY is to think of the graph                     –1                    7              p

 with Δ as the y axis and p as the x axis.

So we are finding p values which cause Δ to be positive (ie above the p axis).                                                                 
This means that           p  <  –1     and   p  >  7    (as shown on the diagram)






